ERRKRDHES

ERT—IN—2IBISH—F

202448388 (B) 1EKIR2H

mB2 B SR

‘ [Xf&] 2

‘[%Elﬁﬁa‘i] - | 5 8o R

[xE%] 1 %&:550,000H  23&:193,000M  3#&:110,000 3 . 43#&:72,000 W 5 3&:39,000
SR RESS /M 3 BF (FB) |94L (EFD | BBIEM | b3F [SiER | AR | #8 | B8 R / B / £E%S
— < BREBAHE . - . - R (KR)
'l Ry 4| B3 I EX 2 | |
FURIYZvT BVPIZVINT«Y TREBUS
BERRE . - . - {E4ARBEER] (KR)
217] 7| ZACIL—2 9 . f 5(21)7 2-2 37.4 6 (5:;)) et 7
R:NA0 BTV vxRIL bii=g & ]
TS 410 | BESZE 52.7 4-3 7.2 - 5 403 |BRGS (KR
3Pl 4 | IRV TST— 5420 F9%) © |BEIES
RNMVTSY B:N\vE—h=T DS
~ g~ LLIZAEES - - KEAZER (BE)
4lsl5 SAIAIT—L 4 6 i (‘332/“83 5-4 37.2 1 (4_819) ﬂiﬁ%ﬂg{x
RS I IIv T4 BHYI—VYIT ARET21—T7—
3 4 6 | #AH 53.2 7-5 37.2| - 3 544 | TEEHGZ (EE)
50101 | I—AFTI—R 56.0 Q172 45 | BHERE
RPRIAVYL—Y B:TFSU—Y F—L— - I\ - T7—LBRR
— . EBRE . - . - B (2%A)
6 6| v=74 u77UI % 5 54.0% (573é‘) 6-6 37.2 7 4:5)9 ot
R:Z2hOVIFUI—Y B:YUVITSR S WA A0
< < P BRSfR . - . - SHE (KR)
7 3 L\— L= I— 4% 5 s 5(46)2 2-7 39.1 4 (4_63(; /M%%ic7
R:7RIAVL—Y B RAXAT—UY AET 7—L
@ 1—F—&RIEL
13—7—
20—F—
30—7— 2,(3,7).4,5,6,1
ATl=5r= 2,7,4,5,1,6,3
@ ILRE
BB 2 340M4 JA R 2-7 450/ 5 & 2-7 1,240 3EE 2-4-7 1,870
B B 2 160/ 2-4 5004 =51 2-7 2,290 3EH 2-7-4 7,960
7 370 4-7 710
ABCDOVTIRHTERERRODDZ, THERAILZETL




